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Mark scheme annotations and abbreviations

M1 method mark

A1 accuracy mark

B1 independent mark

FT follow through after error
dep dependent

oe or equivalent

cao  correct answer only

isw ignore subsequent working
SOi seen or implied
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Question Answer Marks Further Information

1 50 1

Question Answer Marks Further Information

2 9 (km) 1

Question Answer Marks Further Information

3(a) 1 | Anywhere in the multiples of three ring, but not in the

23 overlap area.
Multiples of three Even numbers
28
25
29
3 (b) 24 1
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Question Answer Marks Further Information
4 (a) heptagon 1 | Accept ‘irregular heptagon’.
Accept ‘septagon’.
4 (b) Any trapezium with 1 line of symmetry made by connecting 1 | Accept shape drawn in any orientation.

dots on the grid, e.g.:
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Question Answer Marks Further Information
5 7 (marbles) 2
A correct method containing any number of arithmetic M1
errors:
For example:
(24+2)-5
or
(24 -10)+ 2
or
24 - (24 +2)-5
Question Answer Marks Further Information
6 1 2 4 , 1 | Accept any equivalent mixed number.
1— or 1— or 1— (pizzas)
2 4 8
Question Answer Marks Further Information
7 (a) 1 | Ignore tally column.
Frequency Mark is awarded for correct frequencies.
2 Do not accept tallies on their own.
4
5
3
7 (b) Red 1
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Question Answer Marks Further Information
8 (a) (%) 40 1
8 (b) July, August, September and October 1 | All four answers must be given for the mark, with no extras.
Accept abbreviations, e.g. J, A, S, O
Question Answer Marks Further Information
9 4250 (mi) 1
Question Answer Marks Further Information
10 50 2 | One mark for each.
one-half of 40 45
40
one-third of 75 / 35
% 30
one-fifth of 200 ™~ 25
20
One correct line. B1
Question Answer Marks Further Information
11 16, 36 and 49 1 | All three numbers must be correct for the award of the mark.
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Question Answer Marks Further Information
12 Any one of: 2 | Numbers can be in any order.
6 6
/60\ /60\
42 12 30 24
6 12
/60\ /60
36 18 30 18
Three different multiples of 6 B1
or
Three multiples of 6 that add to 60 but with one repeat
e.g.6 6 48
Question Answer Marks Further Information
13 1.48 or 0.36 1 | Do not allow 1 unit, 4 tenths and 8 hundredths
or
(0 units), 3 tenths and 6 hundredths.

Page 7 of 14




0845/01 Checkpoint Primary — Mark Scheme April 2017
Published
Question Answer Marks Further Information
14 Impossible 1 | Both correct for 1 mark.
The card has a letter T on it
/ Unlikely
The card has a letter R on it Even chance
Likely
The card has a capital letter on it \
Certain
Question Answer Marks Further Information
15 4 1 | Accept 13 remainder 4.
Do not accept fractions or decimals.
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Question Answer Marks Further Information
16 mirror ine 1 | All four vertices must be correct.
Drawing must be accurate enough to show clear intention.
Question Answer Marks Further Information
17 (a) Explanation that shows that 784 must be multiplied by 10, 1 | Do not allow 7840 without a correct explanation.
for example
112x70=112%x7 x 10 Do not allow long multiplication 112 x 70 with no reference to
or 112 x 7 =784.
784 x 10
The answer, 7840, is not essential. Do not accept ‘add zero’ or ‘move decimal’.
17 (b) Explanation that shows that 784 must be divided by 10, for 1 | Do not allow 78.4 without a correct explanation.
example:
112x7=112+10x7 Do not allow long multiplication 11.2 x 7 with no reference to
or 112 x 7 =784.
784 +10
or Do not accept ‘move decimal’.
112 x 7 x 0.1
The answer, 78.4, is not essential.
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Question Answer Marks Further Information
18 0.2 2 | All 3 lines correct with no extra lines.
1 0.25
2 /
1 0.3
vy /
2 0.4
5 /
e 05
0.75
Two answers correct and no more than 1 extra incorrect B1
line.
Question Answer Marks Further Information
19 (a) 6.3 oe 1
19 (b) 0.76 oe 1
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Question Answer Marks Further Information
20 (a) (-4, -3) 1 | Correct format only.
20 (b) y 1 | Kis plotted at (-4, -3).
7“
6 Accept follow through from part (a).
5
4
H. 3
2 ol
1
65 4 32110 1 2 3 4 5 8%
-1
-2
K. -3
—4 oJ
-5
-6
Question Answer Marks Further Information
21 312 314 32 34 342 1 | Do not accept reverse order.
Question Answer Marks Further Information
22 140 1

Page 11 of 14



0845/01 Checkpoint Primary — Mark Scheme April 2017
Published
Question Answer Marks Further Information
23 e 1 | All three must be correct for the award of the mark.
Accept any clear indication.
true
true
false
Question Answer Marks Further Information
24 1 3 11 33 1 | All factors must be given for award of one mark.
Allow in any order.
Question Answer Marks Further Information
25 Each line should total 1.2 1 | All three numbers must be correct for the award of the mark.
0.4
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Question Answer Marks Further Information
26 2.69 1 | Both must be correct for the mark.
and
3.58
Question Answer Marks Further Information
27 62(°) 1 | Accept answers between 61° and 63° inclusive.
Question Answer Marks Further Information
28 116 (cm?) 2
A correct method containing any number of arithmetic M1
errors, e.g.:
(12 x 3) + (20 x 4)
or
(7 x12) + (4 x 8)
or
(20 x 7) - (8 x 3)
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